
AN31.19-P-8080-05T Retrofit trailer coupling control unit Model 211.004/006/007/008/016/020/

022/023/026 /028/029/041/042/
054/056/061/065/070/072/080/
082/083/084/087/089/090/092

P31.10-2523-01

i On vehicles with parktronic system (PTS) code 220, with tire pressure monitor (Beru) 
code 475, with COMAND APS (with navigation) code 527, with TV tuner code 860, 
with Keyless Go code 889, the bracket (24) is already present and does not have to 
be replaced by a new one.

1 Remove M6 nut (26) from bracket for rear SAM control unit with fuse and relay module 
(N10/2).

2 Position bracket (24) on body bolts provided and mount using M6 nut (26) and a new M6 
nut (25).

P31.10-2524-01

3 Position trailer connection unit [AAG] control unit (N28/1) on bracket (24) and secure using 
an M6 nut (25).


